A& ol ot A e g

Al A

A NSHAD
B DE OF U DEXA =
Tl EXAL SE(FXESH5H) (SHol: )
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
A==l SN 4,577,000 4,895,000 A318,000
s ot 2 NEEM EE 4,577,000 4,895,000 A318,000
F=IAE ES(=UHESESIA) 3,990,523 4,308,428 A317,905
SI=IE 2= 3,990,523 4,308,428 A317,905
101 2124l 7,222 7,100 122
04 IRIM2Z2XS 24 7,022 7,100 122
O SgExa 828y oy
80,2403 +3H 102 »33| 7,222
201 Let23| 45,940 62,928 A 16,988
01 ArR22eltl 27,580 47,460 219,880
[ Lek=2H| 11,500
O BT =2 dHs2
500,000 * 110K 2~ 5,500
O =Y dNYE =2
1,100,000 14! 1,100
SG=XE SEA EE
40,0002 x5+ 128 2,400
O SISYFXE A YoM Y =
= 2,500,000 14 2,500
[ =4H| 1,080
O =X& 88 M
9,000& 2% +60 1,080
O 2xt= 15,000
O EXLRZ(F=XHE)
15,000,000 14 15,000
02 324l 18,360 15,468 2,892
O 3322 2 HA 18,360
O Bg==1E S8 MEZS
14,760,000 3 14! 14,760
O SEFIE dot=E=2
150,000& *2I A~+12& 3,600
202 04d| 2,400 2,400
01 =WOdbI 2,400 2,400
O SEFXHE 22l
20,0003 *2H 30 1,200
[ SE=XE ALEZAL S
20,000 =230 1,200
401 A& B 20HY| 3,934,961 4,236,000 A301,039
01 AlEHI 3,924,500 4,225,000 A300,500
SEFIE ZHAS 3,700,000
O SEFIE ZHASE
3,700,000,000& 14 3,700,000
O SSEFXE =X=2ls Jd|
34,500,000 & 14! 34,500
O SYFXE A2 ZHISAH
140,000,000 * 14 140,000




2. B9I(3) - MIRAY - BAS of v e HIDE2
HE CAREFIE L0F| Y
=P 25,000, 000 *27H 50,000
=R L] 10,461 11,000 Ab539
SEFIE AL 20
10,461,000 * 14! 10,461
=4 SE(FUHESEA) 500,542 506, 131 ~5,589
= A et 500,542 506, 131 25,589
sigeapestul 304,606 313,498 28,892
fzeld 35,770 34,530 1,240
e =] 24,610
O olglol2E7% g2 R
502 +10,0000H*23] 1,000
=8 F - I f4HUE =2
1002 %30, 0000H 3,000
S8 = X BHRIXAN 7
1002 %60, 0000H 6,000
NSi g HEHE S8 U2 R
100&%12,0000H 1,200
TElEY EY 7Y
300,000 *x2CH+82] 4,800
N2EE 2
20,0002 x105+102] 2,000
fH A3SE MH 200& *5,3000H 1,060
B0t 9 oHjE HX
150,000 x290H 2 4,350
= ZI G58E 7Y
20,0002 x5+ 123 1,200
O sS4 11,160
1S HALKIZ 9,0003 %10 »50! 4,500
= ®3 oo
9,000 %58 x100! 4,500
O Mgtttz 2=
9,000&*5& +30& 1,350
nSgEA 224 24 MS
9,000 x6& »15& 810
02 S3=gHl 268,836 278,968 10,132
033222 2 HMA 185,936
O DVEHE MUYR SIIEE BA442
2,000 *1,0000H 2,000
O =% = X ALthEE AHESXA 2
ay=d 2,530&%1,50024 123 45,540
O 28 = 3% fAttE RFUHOXAM 2
= 2,5303*75024 128 22,770
O =28 = X ALthEE SFEIXNM 2
BE 2,530 %5502+ 128 16,698
ORI 2,100& 25024+ 123 6,300




SHY W
S OF U DEIA B
8 FEXNHGS(FUHESLEI)
2 - e
RA - BE - SHAEH) - HRA - BAS ofl &t e
O RSN g8
2,530& %3000+ 123 9,108
O eI=3tHeHCCV) S I
20,0002 x56CH* 122 13,440
O oIctE3tnet(Cey) S d83da
50,0002 560K« 12 33,600
O =% = X &5 dab| AlEs
40,0003 +9CH+12& 4,320
O MEIHE =2
50,000& * 122 600
O HESEX UHSIHAl
700,000 *1CH 700
O SESEI NHSIHA
600,000 *1CH 600
O Xsxt A= 30,0002 *2CH*12] 60
O #IMERE= 100,000 2CH 200
O Al &HIs Xl 99,400
O ZelHJ| |2l
200,000& #2LCH*22] 800
O SIE=3tH2HCTV) |2l
1,450,000 +56CH 81,200
O FExHE SNHLEANAYE |22/
1,000,000& «12& 12,000
O SYH=3X Fed) UsHelAAY =
A2l 450,000+ 123 5,400
O Xbef - Aot 13,500
O = X 45N (RRU, HISAHI,
A2EZHI) 13,500
HessSit 8,000,000 ~1CH 8,000
sSEsEX 5,500,000 *1CH 5,500
202 O] 14,640 11,520
01 2L AL 14,640 11,520
0 =8 &= -dX AeHs
10,0003 102 *60L 6,000
O =% = X U= My d+
20,0003 38 *60 3,600
O =¥ = - X &5 HluAs
80,0008 x7H 53] 2,800
(] ClzHs| &4l 80,0008 *7 % 43 2,240
401 AIEHIZ SR 0HYI 181,296 181,113
01 A&l 180,000 180,000
O Rt et ixl
25,000,000 +5CH 125,000
O =S E=o102H D
25,000,000 1CH 25,000
O =&8x #Ms €1
30,000,000 *14! 30,000




SHE Y
S OF Y WETA 2
¥ FIXCE(FRISEA) (cre): xg)
M- =B S(3IH) - ASAKY - BAS Ofl AboH dET HD=2
03 AIEE0HHI 1,296 1,113 183
[0 2ol=I102t Al AlIZL0id|
1,296,000« 1Al 1,296
NEX KT SS(EXNESYSIH) 56,523 69,878 A 13,355
=8 AMsX A& &= 56,523 69,878 A 13,355
201 LB AY| 44 533 46,978 N2,445
01 AFR2 22|t 16,625 15,750 875
[ Bt=2H| 8,250
O SYENSXSE LA 820 H& 2
AX 100, 000& *5JH A~ %23 1,000
O 92Ed MEEDXANE KOl
1002 %10,0000H*4= 4,000
O Z2HI EY 2
300,000 *6H 1,800
O ANREE ¢ 20,0002 x105+53| 1,000
O DY2AC|AIS M 2ZEAHH HI&
150,000 «3H 450
[ 24| 7,875
O AREHDIIIAF It =] HRF4A
9,00021 *4% x50 1,800
O SEAHZE Y=z
9,000& x4 60 2,160
O HYeiE a4 428
9,000 x4 90 3,240
O NSIH22IASEH XEed& A
9,000 x3H x5 675
O axt= 500
O SHEX|XgE HOI &Y Xt
500,000 %13] 500
° ZB2YY| 27,908 31,28 13,320
[ 2222 2 MAl 18,308
O 2228 IIAYYN LELHE
2,530 * 14021 % 128 4. 251
O 22EE JUEE 20 DA S5 S
253021 +18021+ 122 5,465
O o228 SUDNA LE2HR
2,530 %2004 x 12& 6,072
O etsEs 2,100 %1001+ 128 2,520
[ A2 &BISXIH] 9,600
O RHEEXAIA Z22|A|AE X122 |
350,000 128 4,200
O RESESAIA 22|AAE SAl2eld]
350,000 128 4. 200
O AAIZF MElE SXAAE X2
200,000 x6& 1,200
202 04| 11,180 11,180
01 2 Y| 11,180 11,180




A nSHEL
I DE X U DETA =Y
o9l 28 NS AT S (FIRSE3) (crop:mel)
2 - IE!
SN - B - SRASH) - MRA - BAES ol &t e HIDSZ
O 2ugxl, LEESBAR 1AL L1
At 20,0002 x3& =18 1,080
0 SHYX, SESAA DA =AEA
80,0002 x3% =42 960
O MR 24 S8
20,0003 38 +0& 540
O MHSxt2elAGH XIEet=s
20,0002 325302 1,800
[ SEAHIE Y=z
20,0003 x38 »30! 1,800
O UHSAHEoiiia 28 2t JRAAt 2
aes8d 100,000 x2&*10 2,000
O NSI2EIAEH A2 BFJES
100,000& <2 *10& 2,000
[ SEAHZED DSE-
100,000 x2S +5& 1,000
301 22N 810 720 D
11 AALAEIXIE S 810 720 0
O 23 &4X 243
9,000&* 158 +63] 810
FXAIE OIHIBI(FXHESEEH) 29,412 10,563 18,849
Oild1d| 29,412 10,563 18,849
801 ofielH 29,412 10,563 18,849
01 Z2rolgll 29,412 10,563 18,849
O =Xd €X1 29 ool
29,412,000& 29,412




